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ECONOMICS

( Honours Core )

Paper : ECO-HC—4026
( Intermediate Macroeconomics—II )
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer the following questions : 1x10=10
SO PR B fira
(a) What is endogenous growth?

weﬁvsmﬁ?

(b) Mention one assumption of Solow
model.

v ¥y o wfeqR Sray w91 )
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(2)

(c) “Consumption function expresses the
relationship between consumption and
investment.” Is it true?

‘ool TR cell e RRcEeR weE TR
oM I 177 QT FOIH ?

(d) Who introduced the permanent income
hypothesis?

s@m‘wmmw?

(e) What is inventory investment?
sieR R &2

(/ What is monetary policy?
o1 A R 2

(99 What is time consistency of monetary
policy?
o N7 s AT &2

(h) “Central bank of a country prepares
its fiscal policy.” Is it true or false?
“om @R R @we TE Re S owe

I G A SPT ?
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(3)

(i Mention one classical assumption.

o1 FFIPre wfSyRen Srae 4 |

() Name one new-Keynesian economist.

GG -0 LANSR{T T forat 1

2. Answer the following questions : 2x5=10
oo Tl erpie Ses fam

(a) Mention two limitations of Harrod-
Domar model.

&Fe-T A Wk w51 SRwel Say 34 |

(b) Mention two assumptions of rational
expectation hypothesis.

Lomare der SEERT [oF eyl SeEy
Ll ‘

(c) What is ' meant by residential
investment?

R R I & e

(d) Mention two objectives of monetary
policy.
T ST 7o1 Srwen Srary 701

A23/853 : ( Turn Over)



(4)
(e) Mention two features of new classical
thoughts.

I RIS SR Yo1 ¢afgs a4 |

3. Answer any four questions from the
following : S5x4=20

weTS fPTR °R1 R e vt e T o -

(a) Explain the limitations of Solow model.
5 ¥ Raermz I 34 |

(b) Explain the technical attributes of
Keynesian consumption function.

@%{ﬁamﬁwmémwwr

(c) Briefly explain the random walk of
consumption expenditure.

Co15 AT IO CATS BT T 91 1

(d) Explain the main determinants of
demand for money.

TR SRwR ey TR e =4 |
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(S)

(e) Distinguish between active and passive
monetary policies.

Ay WF IHF YW Ao W& ANdH Wefy
ol

(0 How did Keynes differ from the
classicists? Explain.

TS SANORTRITF FEP 20 435 7
[ FA

4. Answer the following questions : 10x4=40
oot Tl eeTgRa T fi
(a) Critically discuss the Harrod-Domar
growth model.

R'T-TIR Rerm =G e LI
AL F9 |

Or/ 94

Discuss the relationship between
technological progress and elements of

endogenous growth.
Rprs e wWE wEEiRe  Rerm
SAMITRR WIS ST SACAGAT 7 |

A23/853 { Turn Over )



(b)

(c)

(d)

A23/853

(6)

Discuss critically the permanent income
hypothesis.

TN AW SREFCG A AZPICE ST
0

Or / gy

What are the determinants of business
fixed investment? Discuss.

e & Rivcas fidieeemz & & 2 e
901

Critically discuss the Keynesian
consumption function.

TP (15 FHANCH! AANCAGA HZIII A
90 :

Or / a1
Discuss the ‘government budget
constraint’.
‘533! AWEHB Y AL F |

Discuss different types of government
debt. What is Ricardian equivalence?
7+3=10

WAl ¥R RR¥m ez wicems
fR1eR el 5 2
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(7)

Or / 933t

Discuss the main features of classical
school of macroeconomic thought.

TR WA SRR EPS oMb =
CMBPTR SICas <541 |

* %k
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